0.4
0.09
0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.0

05 =50-15-10 =5 0 5 10 15 20 25

—=— Orig/DOM < or\gim

—e— initial/DQM_o

—_— hlghPtTrlplet/DQM orig_MSs
—— detachedQ/DQM_orig_MS

[[Efficienc] —— detachedT/DOM orig MS

0.2

- '!'\' !I\'|'\'?l iIIH\ '!'H'!'H\!'IIQHHM i
o i h 0 hhHMJH\H |H|H|H|H\ H|\||EHH|HE\ | 'N |
-1-0.8- 20 02040608 1

Efficiency vs Dz(PV)
0.5
0.09
0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.01

10] 1
f .
0.9F--

0.8F --{- -]

o
o
00
T T rTT

o
o
]
T

O .
1sfHad J -a-
L)
\nj 1 4
i




	Contents
	Page 1


